Véaxjobridgen

Em-Bridge 2023-10-18

Partavling, 12 bord, 24 par. Antal brickor: 24. Medel: 264.0.

Plac Par Poéng % Namn MID Klubb
1 20 320.2 60.64 Magnus Fagerlind - Einar Liedberg 43599 35252 Vaxjoébridgen
2 16 307.3 58.21  Johnny Fransson - Bo Lind 44913 53073 Véxjobridgen
3 3 297.9 56.42 Birgitta Karlsson - Bernt Johansson 35205 35204 Véaxjobridgen
4 13 296.3 56.11 Tomas Gustavsson - Gabor Barath 607 916 Vaxjébridgen
5 17 295.0 55.87  Filippo Fonsati - Olle Rundgvist 40657 872 Hovmantorps BK - Véaxjébridgen
6 22 293.2 55.53  Ann-Charlotte Tranvik - Nils Karlsson 27165 60174 Vaxjobridgen
7 21 283.8 53.75 Cathrine Teandersson - Laila Linnér 81930 64903 Vaxjobridgen
8 1 271.5 51.42  Annika Krantz - Aina Isaksson 88743 80052 Vaxjobridgen
9 19 268.9 50.92  Ingrid Svensson - Par Carlsson 40035 40020 Vaxjobridgen
10 11 267.6 50.69  Ulla Bonnevier - Ulla-Britt Linnér 50426 83816 Vaxjobridgen
11 12 266.2 50.41 Bengt Bengtsson - Leif Thuresson 11264 1550  Véaxjobridgen
12 9 260.4 49.32  Marianne Johansson - Mia Géransson 82814 79735 Vaxjobridgen
13 5 260.0 49.24 Bengt-Uno Lilja - Karl-Erik Fransson 29550 47645 Ingelstad BK
14 15 257.7 48.81  Bertil Jonsson - Berit Gyllensward 23254 33293 Vaxjobridgen
15 23 256.6  48.59 Ronnie Lindahl - Marketta Bretz 85970 676 Vaxjébridgen
16 14 253.5 48.01 Roger Karlsson - Inga-Lill Fransson 13425 5395  Véxjobridgen - Savsjo BK
17 24 246.6 46.71  Stina Johnsson - Sussie Karlsson 64083 81931 Vaxjobridgen
18 18 245.2 46.43  Christer Falck - Jan-Olof Hjelmberg 46707 39923 Véaxjobridgen
19 10 2427 4596 Bengt Bellander - Bernt Linnér 903 6812  Vaxjobridgen
20 8 235.2 44.55  Nils-Erik Lévgren - Birger Gustafsson 54696 54656 Vaxjobridgen
21 4 233.1  44.14 Hillevi Liedberg - Asa Sundberg 78312 56115 Véaxjébridgen - Hovmantorps BK
22 2 230.7 43.70 Staffan Hallberg - Per Bretz 6215 894 IFK Karlskrona - Véxjobridgen
23 7 226.7 42.93 Ewa Karlsson - Ulla Andersson 58710 58708 Vaxjobridgen
24 6 219.8 41.63 Toni Sj6 - Goran Fransson 82613 86583 Véaxjobridgen
1 4 K6 Basta kontrakt 2 & KKn83 Basta kontrakt 3 41032 Basta kontrakt
Nord vDKn10 5¢ OD-2300 Ost v D96 34 V =-140 Syd v 109543 2NT V =-120
Ingen 4952 NS + E103 ov + 10863
#DKn1064 & ¢ v & NT #ED2 & ¢ v & NT »10 & ¢ v & NT
a2 410984 N9 4396 4109765 & ED2 N497 45 496 4 KKn54 N45765
v K743 v 8652 S 104 4 106 vE85 v K104 S497 45 vKD87 v6 S467 65
¢ EKKn1043 ¢ 87 039835 ¢- ¢+ K764 09 4687 ¢ED4 #9752 0976738
*E7 2953 V39835 #K10984 #765 V9 469¢€6 #KD32 #E754 V9786738
# EDKn753 a4 « ED87
vE9 v Kn732 v EKn2
+ D6 + DKn9852 + KKn
»K82 #Kn3 #Kn986
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 18 44 S= ¢A 420 200 20(10 20 3NN+1 a2 630 220 00|12 23 2v V-3 «T 300 220 00
16 8 44 S= ¢A 420 200 20| 4 19 2NV-2 48 100 190 30|10 19 2v S+1 &K 140 200 20
17 3 44 S= ¢K 420 200 20(12 24 34 V-2 v6 100 190 30|13 7 2vS= 46 110 17.0 5.0
6 23 34 S+1 ¢K 170 150 70| 5 21 INN= oA 90 160 6.0|18 4 2vS= 49 110 17.0 5.0
12 24 34 S+1 ¢A 170 150 7.0|11 22 3&V-1 ¢ A 50 12.0 100|17 9 2NV-1 v3 100 14.0 8.0
11 22 5v O-3 A 150 120 100|166 8 24 O-1 +Q 50 12.0 10.0|11 21 INS= v7 90 12.0 10.0
4 19 34 S= ¢A 140 9.0 13017 3 24 V-1 ¢ A 50 12.0 100| 1 24 2NS-1 ¢4 -50 9.0 13.0
15 2 34 S= ¢K 140 9.0 13.0| 9 18 3« 0= a4 -110 8.0 140| 8 15 INS-1 v7 -50 9.0 13.0
7 14 3¢ V-1 aK 50 6.0 16.0| 1 13 24 V+1 v6 -140 6.0 16.0| 6 22 2v S-2 49 -100 6.0 16.0
5 21 34 S-1 *A -50 40 180| 6 23 34 V+1l &2 -170 3.0 190 2 14 24 0+2 &A -130 4.0 18.0
1 13 44 S-2 ¢ A -100 20 20015 2 24 V+2 &2 -170 3.0 190 5 20 3v S-3 46 -150 1.0 21.0
10 20 3¢ V= oK -110 0.0 220| 7 14 INN-3 ¢4 -300 0.0 220|16 3 2vS-3 49 -150 1.0 21.0
4 &« KD872 Bésta kontrakt 5 4952 Bésta kontrakt 6 498 Bésta kontrakt
Vast v5 44 N =130 Nord v KD843 44 O =-130 Ost vKD765 2NT S =120
Alla +D2 NS + 1062 ov +D
#E10843 & ¢ v & NT *97 & ¢ v & NT #K9652 & ¢ v & NT
#1053 & EKn6 N 105 8 8 7 o E 4DKn1074 N 3 57 6 7 4 Knl1054 «EK2 N9 4668
vD1074 %92 S 105 8 8 7 v EKn v 1092 S36777 vKnl08 v942 S 9476 8
¢+ Kn8743 ¢ E10965 038546 ¢DKn743 ¢9 O 106 4 6 5 ¢+ E76532 ¢ Kn109 O48465
9 *K62 V38546 #KDKn103 #8542 V 107 5 6 5 »- #EKn84 V48464
494 & K863 4 D763
v EKKn863 v 765 vE3
+K + EK85 + K84
#DKn75 »E6 #D1073
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
10 19 3v S= +J 140 220 00|17 4 4aV-1 vK 50 220 00|11 20 24 V-3 ¢+Q 300 220 00
16 3 44 N= ¢A 130 200 20| 7 24 24V= 2 90 20.0 20| 1 23 3&N+1 ¢J 130 200 20
11 21 3v S-1 9 -100 180 4.0| 2 13 3&V= 2 -110 160 6.0{14 8 3#N-= A 110 18.0 4.0
8 15 3¢ O= vA -110 160 6.0 3 15 24 V+1l T -110 160 6.0 9 16 24 V-1 ¢+Q 100 16.0 6.0
1 24 3vS-2 29 -200 70 150|111 20 2V +1 49 -110 16.0 6.0|18 10 Pass 140 8.0
2 14 54DN-1 ¢A -200 70 150| 1 23 3#V+1l vK -130 9.0 13.0| 6 21 2v N-1 *J -50 11.0 11.0
5 20 4vS-2 *7 -200 70 15.0|12 22 44 V= vK -130 9.0 13.0|12 22 14 S-1 ¢ A -50 11.0 11.0
6 22 4v S-2 ¢7 -200 70 15014 8 24V +2 49 -130 9.0 13.0|19 5 2¢ V= vQ -90 8.0 14.0
12 23 4v S-2 *9 -200 70 15.0|18 10 3« V+l 42 -130 9.0 13.0| 2 13 2¢ V+1 +Q -110 4.0 18.0
13 7 4v S-2 9 -200 70 150| 9 16 24V +3 T -150 3.0 19.0| 3 15 3¢ V= *6 -110 4.0 18.0
17 9 4v S-2 29 -200 70 150|119 5 4a4V+l vQ -150 3.0 19017 4 2¢ V+1 vK -110 40 180
18 4 3vS-2 *9 -200 70 150| 6 21 44DV= T -510 0.0 220| 7 24 44 N-3 a A -150 0.0 22.0
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7 4 Kn853 Basta kontrakt 8 4 Kn10963 Basta kontrakt 9 & E9542 Basta kontrakt
Syd v 87432 3NT V =-600 Vast v Kn3 3¢ VD-1100 Nord vE5 3NT O =-600
Alla + Kn1032 Ingen + K105 ov + 1062
®- & ¢ v & NT +1076 & ¢ v & NT #DKn6 & ¢ v & NT
«E1074 « KD92 N4 7544 D2 ~ K4 N55687 4 K6 «D1083 N6 4454
v9 v KDKn6 S46543 vD852 vK64 S556 87 vKn74 vKD102 S 64454
+76 ¢+ KD9 096699 ¢D97 ¢ Kn6432 078756 +Kn9853 ¢ E7 078979
#K109632 #Kn7 VI9678929 #KD98 #EKn5 V78756 *K74 #E103 V78989
6 4 E875 & Kn7
vE105 vE1097 v 9863
+ E854 +E8 + KD4
#ED854 #432 #9852
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
2 24 29y N-1 oK -100 21.0 1.0|12 21 4vyDV-4 & 800 220 00| 1 21 1aN-1 ¢ A 50 22.0 0.0
20 6 2v N-1 +K -100 21.0 10|15 9 24 N= vK 110 200 20| 2 23 INO= v6 90 18.0 4.0
3 14 24 V+1 ¢ -140 170 50| 1 22 3¢ O-1 a A 50 160 6.0| 8 24 INO= v3 90 18.0 4.0
19 11 34 V= 2 -140 170 50| 3 14 2NO-1 48 50 160 6.0|20 12 INO= v6 90 18.0 4.0
12 21 INO+2 #4 -150 140 8.0(20 6 3¢ O-1 s A 50 160 6.0|19 6 24 N-2 ¢ A -100 140 8.0
8 13 2#S-3 v9 -300 100 12.0| 2 24 34 S-1 ¢7 -50 12.0 10.0| 4 15 INO+1 #9 -120  10.0 12.0
15 9 2#S-3 v9 -300 10.0 12.0| 4 16 2¢ O= v9 -90 8.0 14011 18 INO+1 ¥3 -120  10.0 12.0
18 5 2#S-3 v9 -300 10.0 12.0| 8 13 INO= a5 -90 8.0 14016 10 INO+1 &) -120  10.0 12.0
10 17 4vyDS-2 &K -500 6.0 16.0|18 5 INV= L) -90 8.0 140 5 17 INO+2 &J -150 40 18.0
4 16 3ANO+1 #4 -630 4.0 18.0| 7 23 INO+1 45 -120 3.0 190 7 22 INO+2 ¢4 -150 4.0 18.0
1 22 4vyDN-3 +K -800 10 21.0|19 11 INV+1 v3 -120 3.0 190 9 14 INO+2 &) -150 4.0 18.0
7 23 14DS-3 v9 -800 1.0 21.0|10 17 3¢ O+1 43 -130 0.0 220| 3 13 3NO= &5 -600 0.0 22.0
10 4 Kn4 Basta kontrakt 11 4 KKn109653 Basta kontrakt 12 & KKn83 Basta kontrakt
Ost v KKn10953 54 O =-650 Syd v 105 54 SD-2-300 Vast v D32 34 N =140
Alla + E86 Ingen +5 NS + D8732
#85 & ¢ v & NT +1064 & ¢ v & NT +10 & ¢ v & NT
«E8652 4D10973 N7 2812 a7 » E82 N54293 764 #1052 N9 87 97
vD vE74 S72812 vKD762 vEKn83 S54293 vEKKn106 v975 S987 97
¢ D10943 ¢ K7 O 5 105 117 ¢ EK97 ¢ Kn64 O 7 8 114 10 + E96 ¢ 1054 0446 44
*73 *E42 vV 5 105 117 #932 *D87 vV 7 8 104 9 #65 *E732 V446144
oK «D4 «ED9
v 862 v 94 v84
¢ Kn52 + D10832 + KKn
#KDKn1096 #EKKn5 #KDKn984
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
9 14 34 O+1 &K -170 210 1.0 1 20 4v V-2 +5 100 21.0 10|10 15 3vyDV-2 &T 300 220 0.0
16 10 34 O+1 #Q -170 21.0 1.0|10 15 5vDO-1 5 100 21.0 10|17 11 3#S+1 vA 130 200 20
1 21 34 0+2 &K -200 12.0 10.0|17 11 44 N-1 vA -50 18.0 40| 3 24 34#S-= vA 110 12.0 10.0
4 15 34 O+2 v2 -200 120 10.0| 6 18 44DN-1 ©vA -100 140 80| 5 16 3#S= vK 110 12.0 10.0
5 17 34 V+2 &K -200 12.0 10.0(21 7 44 N-2 vA -100 140 8.0| 8 23 3#S= vK 110 12.0 10.0
7 22 34 O+2 &9 -200 120 10.0|22 2 44DN-1 ©vA -100 140 80| 9 13 3#S= vA 110 12.0 10.0
11 18 24 O+3 #K -200 12.0 10.0| 3 24 54 N-3 vA -150 100 12.0|12 19 3#S= vA 110 12.0 10.0
19 6 34 0+2 #K -200 120 10.0| 9 13 3vV+2 5 -200 8.0 14.0|21 7 3#S-= vA 110 12.0 10.0
20 12 24 O+3 &K -200 120 10.0| 4 14 44DN-2 ©vA -300 6.0 16.0|22 2 3#S-= vK 110 12.0 10.0
8 24 44 O= *9 -620 40 18.0| 5 16 4v V= +5 -420 20 200| 1 20 2NN-1 v7 -100 3.0 19.0
2 23 44 O+1 &K -650 10 21.0| 8 23 4v V= ¢+5 -420 20 20.0| 6 18 44 N-1 v5 -100 3.0 19.0
3 13 44 O+1 &K -650 10 21.0|12 19 4v V= +5 -420 20 200| 4 14 2v V= &T -110 0.0 22.0
13 4954 Bésta kontrakt 14 462 Bésta kontrakt 15 « KKn76 Bésta kontrakt
Nord v Kn9854 34 O =-140 Ost v D943 54 O =-450 Syd v EK83 34 S =140
Alla + EKD6 Ingen 2 NS ¢ 10542
*6 & ¢ v & NT #Kn98642 & ¢ v & NT *4 & ¢ v & NT
& K72 « E1086 N3 49 44 2 Knl10943 & EK75 N8 4423 21082 4E54 N8 8 8 9 8
vE7 v10 S349 44 vKKn108 v762 S 84423 vKn972 v654 S888 98
¢ Kn53 4109872 0983938 ¢E3 ¢+ KD764 059 9 119 ¢Kn97 # EK8 O555 45
#KDKn54 #E32 V983938 #K10 +D V599 119 #ED6 #8732 V54545
« DKn3 «D8 « D93
v KD632 vE5 vD10
+4 + Kn10985 + D63
10987 #E753 #KKn1095
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
6 17 3y N+1 &A 170 200 20| 6 17 54 V-1 2 50 220 0012 17 2NS+2 v7 180 220 0.0
10 14 2y N+2 T 170 200 20| 4 13 4e V= 2 -420 140 8.0(23 9 INS+2 v7 150 200 20
22 8 3vyN+1 #A 170 200 20| 5 15 44 V= 2 -420 140 8.0| 5 14 INS+1 v2 120 16.0 6.0
2 21 2vS+1 &K 140 140 80| 9 24 44 V= 2 -420 140 80| 6 16 2NS= *7 120 16.0 6.0
9 24 3y S= K 140 140 8.0|10 14 44 V= 2 -420 140 8.0| 7 19 2NN= ¢K 120 16.0 6.0
20 7 3v N= «A 140 140 80|11 16 44 V= 2 -420 140 8.0| 1 18 2¢ N+1  ¥5 110 12.0 10.0
1 19 5#V-1 ¢A 100 10.0 12.0|18 12 44 V= 2 -420 140 8.0(20 2 Pass 8.0 14.0
23 3 INV+1 v4 -120 8.0 140|20 7 44 V= 2 -420 140 8.0|21 8 Pass 8.0 14.0
4 13 48 V= ¢ A -130 50 17.0| 1 19 4a4 V+1 2 -450 3.0 19.0(24 4 Pass 8.0 14.0
5 15 3¢ O+1 vK -130 50 17.0| 2 21 44 V+1 ¢2 -450 3.0 19.0(11 15 INV= vA -90 4.0 18.0
11 16 24 O+1 vK -140 10 21.0|22 8 44 V+l 2 -450 3.0 19.0| 3 22 3NS-1 a2 -100 1.0 21.0
18 12 34 O= vK -140 10 21.0|23 3 44 V+l 2 -450 3.0 19.0|10 13 2NN-1 a4 -100 1.0 21.0
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16 & KKn32 Basta kontrakt 17 4 KD7 Basta kontrakt 18 4 ED62 Basta kontrakt
Vast v 984 34 N =140 Nord v76 5v O =-450 Ost v D86 4v N =620
oV ¢ E7 Ingen + EK92 NS ¢ EKn53
#KD73 & ¢ v & NT #Kn1073 & ¢ v & NT *75 & ¢ v & NT
484 a75 N7 6 6 9 8 210652 & EKn3 N65245 487 & K1095 N 7 7 109 9
v 1075 v EK63 S75596 vEKn95 vKD1084 S65245 vKKn52 7 S77999
41042 ¢+ KD986 06 77 45 47653 ¢4 06 6 119 7 ¢ 842 ¢+ D10976 056 343
#EKn854 #102 V67745 &5 *E864 V 6 6 119 7 210642 #ED3 V55344
« ED1096 4984 & Kn43
v DKn2 v32 v E10943
¢ Kn53 + DKn108 + K
*96 #KD92 #KKn98
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 18 34 S= &A 140 150 70(21 3 3#N= +4 110 210 10| 2 19 3«aDO-4 ¢K 800 220 0.0
3 22 24 S+1 2 140 150 7.0(22 9 3&#N= «A 110 210 10|12 16 4v S= 2 620 200 20
10 13 24 S+1 2 140 150 70(13 5 2&N= *4 90 180 40| 4 23 2vS+1 2 140 18.0 4.0
12 17 24 S+1 *T 140 150 70| 2 19 3vO+1 +Q -170 140 8.0| 8 20 2v S= ¢7 110 150 7.0
20 2 24 S+l 2 140 150 7.0| 4 23 3vO+1 +Q -170 140 8.0|11 14 2v S= 48 110 150 7.0
21 8 24 S+l 2 140 150 70| 6 15 3vO+1 +Q -170 140 8.0| 7 18 4v S-1 2 -100 10.0 12.0
23 9 24 N+1 T 140 150 70| 1 17 3vO0+2 +Q -200 50 17.0|13 5 4vS-1 8 -100 10.0 12.0
24 4 24 S+1 2 140 150 7.0| 7 18 3v O+2 &2 -200 50 17.0(24 10 3v S-1 +4 -100 10.0 12.0
5 14 44 S-1 *4 -50 3.0 190 8 20 2¢» O+3 ¢Q -200 5.0 17.0| 6 15 44 N-2 v7 -200 40 18.0
6 16 44 N-1 vK -50 30 19011 14 3y O+2 +Q -200 50 17.0|21 3 4vS-2 +8 -200 4.0 18.0
7 19 44 S-1 2 -50 3.0 19.0|12 16 3vO+2 +Q -200 50 17022 9 3NN-2 +9 -200 40 180
11 15 44 S-1 *T -50 3.0 19.0(24 10 3vO+2 +Q -200 50 17.0| 1 17 4+ S-3 2 -300 0.0 22.0
19 47632 Basta kontrakt 20 4 EKn10 Basta kontrakt 21 4 D1064 Basta kontrakt
Syd vKD1075 5& V =-600 Vast v Kn953 24 O =-110 Nord v DKn1094 64 N D -3-800
(6)) +43 Alla +52 NS +D9
D4 & ¢ v & NT *E964 & ¢ v & NT #65 & ¢ v & NT
4 K1085 #4Kn4 N26543 4764 « KD92 N54857 a5 48 N12492
v6 v EKn942 S 26554 v- v EK102 S54857 v EK87 v 532 S12 492
¢K982 ¢10 O 117 8 8 9 ¢+ D109864 ¢ EKn O7 8586 ¢ EK1086 ¢ 52 O 12108 4 6
#EK98 #106532 vV 117 8 8 9 D853 #Kn107 V78476 #E32 #KDKn10987 V 12108 4 6
4 ED9 4853 & EKKNn9732
v 83 v D8764 v6
+ EDKn765 + K73 ¢+ Kn743
*Kn7 *K2 LY
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
2 18 2¢ S-1 &K -50 18.0 40| 3 20 3NV-3 &4 300 210 10| 3 19 34 S= &A 140 220 0.0
5 24 2¢ S-1 LY. -50 18.0 40|22 4 3NO-3 v7 300 21.0 10| 4 21 540= &K -400 17.0 5.0
9 21 2¢ N-1 v6 50 18.0 40| 5 24 INO= v6 90 170 50| 7 16 54 0= s A -400 170 5.0
14 6 2¢ S-1 v6 -50 18.0 4.0(23 10 INO= v7 90 170 50| 8 18 540+= v6 -400 170 5.0
22 4 INS-1 &K -50 18.0 4.0(|12 15 3vS-1 +8 -100 140 8.0(24 11 540= aA -400 170 5.0
8 19 2¢ S-2 A -100 100 12.0| 8 19 14 O+1 &K -110 120 10.0| 1 15 5#0+1 &A -420 10.0 12.0
12 15 3¢ S-2 v6 -100 100 12.0| 1 16 INO+l1 8 -120 7.0 15014 12 540 +1 &A -420 10.0 12.0
13 11 3¢ S-2 A -100 100 12.0| 2 18 INO+1 v4 -120 70 150|23 5 540+1 &K -420 10.0 12.0
23 10 44 0= v8 -130 6.0 16.0| 7 17 INO+1 v4 -120 7.0 150| 2 17 54DS-2 vK -500 5.0 17.0
1 16 4¢ S-3 ¢+ K -150 30 190(14 6 INO+1 v6 -120 7.0 150| 9 20 54DS-2 +¢A -500 5.0 17.0
7 17 2¢ S-3 LY -150 3.0 190 9 21 INO+2 v4 -150 20 200| 6 13 6#0-= &K -920 2.0 20.0
3 20 3¢ S4 &A -200 0.0 220(13 11 3NV= *6 -600 00 220(10 22 64DO= &A -1090 0.0 22.0
22 » KKn10965 Bésta kontrakt 23 &« Kn93 Bésta kontrakt 24 43 Bésta kontrakt
Ost v DKn3 34 S =140 Syd v Kn75 44 V D -2 500 Vast v EKn3 ANT N =430
oV + Knl105 Alla + D98 Ingen + KD9873
*3 & ¢ v & NT #EKNn108 & ¢ v & NT #Kn52 & ¢ v & NT
4 E2 a7 N4 479 4 4 K10742 & ED5 N 107 105 7 410854 4D972 N6 9 7 7 10
v1097 vE84 S 44794 v 63 v 842 S 105 105 7 v 106 v 98752 S6 97 7 10
¢ E963 ¢ K72 098547 ¢ 7543 ¢ EKn10 036 384 ¢+6 ¢ E52 052 443
&#Kn754 #KD9862 V98547 #53 #9764 V 36 384 #EK9863 &7 V52443
« D843 4 86 & EKKn6
v K652 v EKD109 vKD4
+ D84 + K62 + Kn104
*E10 #KD2 D104
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
3 19 54DV-2 43 500 220 00| 1 14 4v S+l v3 650 210 10|13 12 3NS+3 »3 490 210 1.0
24 11 44 N= &K 420 200 20|13 12 4v S+1 v3 650 21,0 10|16 2 3NS+3 &6 490 21.0 1.0
4 21 34 N+1 #K 170 180 4.0( 3 18 3NN+1 &7 630 180 40| 1 14 3NS+2 *6 460 13.0 9.0
2 17 34 N= &K 140 150 7.0| 8 17 4v S= &5 620 140 80| 3 18 3NS+2 »3 460 13.0 9.0
23 5 24 N+1 v4 140 150 7.0({10 21 4v S= &3 620 140 80| 5 22 3NS+2 *9 460 13.0 9.0
1 15 440-1 «Q 100 11.0 11.0(15 7 4v S= a2 620 140 80(10 21 3NS+2 &A 460 13.0 9.0
7 16 54 0O-1 43 100 11.0 110 5 22 3v S+1 &5 170 10.0 12.0(11 23 3NS+2 *6 460 13.0 9.0
9 20 44 N-1 &K -50 7.0 150| 4 20 3NS-1 a2 -100 80 140(24 6 3NS+2 »8 460 13.0 9.0
10 22 44 N-1 &K -50 7.0 150| 9 19 3NN-2 a2 -200 3.0 190 4 20 3NS+1 &A 430 4.0 18.0
6 13 44DN-1 &K -100 3.0 19.0(11 23 3NS-2 a2 -200 3.0 190 9 19 3NS+1 &A 430 4.0 18.0
14 12 44DN-1 K -100 30 190(16 2 3NS-2 a2 -200 30 190|15 7 3NS+1 #A 430 40 180
8 18 24 0+2 ¢4 -130 00 220(24 6 3NS-2 a4 -200 3.0 19.0( 8 17 5¢ N-2 &7 -100 0.0 22.0
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